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Instructions for Candidates

* Write your Roll No. on the top immediately on recelpt
of this question paper.

2. Attempt any Five Questions.
3. The distribution of the marks is given with the question.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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(a) What is the observation of Third Working Group
on Monetary Aggregates? Discuss the New

Monetary and Liquidity aggregates recommended

by the Third Working Group.

(b) The Reserve Bank of India has released data on
sources and components of Reserve money as on

.ﬂs‘ March 2022 which is given below.

Source/ Component . Rs. Billion
1. Bankers' Deposits with RBl it

2. ‘Other’ Deposits with RBI 58

3. Net RB] Credit to Government 1 45'1

4. RBI Credi’f to Banks & Commercial Sector 544

5. Ngt'Foreign Exchange Assets of RBI : 4442

6. Government’s Currency Liabilities to the Public . 28

7. Net Non-Monetary Liabilities of RBI 1309
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(b) In India, banks are the main conduits through which
monetary impulses are transmitted to the real
~economy. In this context review the bank’s lending

rate system since the early 1990s. - (7+8)
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(a) What are the channels of monetary policy
transmission and explain with the help of a

flowchart?

(b) Explain the use of repos and reverse repos as

tools of monetary management. (10+5)
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(i) an increase in size of government budget

deficit

(iii) decrease in wealth (9+6)
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7. (a) How have capital requirement norms changed from

Basel II to Basel III?

3726 3

Using the above data, calculate the amount of
currency in circulation. Also prepare the balance

sheet of the RBI. i (9+6)
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2. (a) Discuss the adjustment suggested by Rangarajan
and Singh to the basic equation for money

multiplier approach.

(b) ‘Inability of weighted monetary aggregates
essentially reflects deficiencies of operationalisation

rather than conceptualisation’. Discuss.

(¢) A key financial innovation in 1980s that
dramatically_inf'luenced the role of financial
intermediaries is the phenomenon of Asset
Securitisation. Explain in.this context the process
of asset securitisation and discuss its implications

to financial markets. : . (5+5+5)
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Saving Instrument Interest Rate
| Savings Deposit 4%
5 Year Time Deposit in a Bank 6%
1 National Saving Certificate %
Employee Provident Fund 8%

6. (a) Illustrate with a suitable example the inverse
relationship between market interest rates and

price of éoupon bond with different maturities.

(b) Explain with the help of graphs how each one of
the following affects the demand and supply curve

for loanable funds.

(i) decrease in inflationary expectations
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Saving Instrument Interest Rate
Savings Deposit 4%
5 Year Time Deposit in a Bank 6%
National Saving Certificate %
Employee Provident Fund 8%
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3. (a) A bank with market power charges different

interest rates to borrowers with good and bad
credit risk under symmetric information and same
interest rate under asymmetric information.

Elucidate.

(b) Explain how transaction costs influence the
financial structure. Also explain how financial
intermediaries help reduce transaction costs?

(10+5)
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(a) Compare and contrast the sequence of events in
financial crises in United States and East Asian

Countries.

(b) Explain briefly the futures contract? Elucidate the
functions of a clearinghouse with respect to the

future; market. ' (9+6)
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(a) Suppose there is an investor who longs a put option

on Aséet XYZ that expires in one month and has
a strike price of Rs. 105. The option price is Rs. 2
and the current ﬁrice is Rs. 105 and the investor
holds the asset till expiry date. Give the difference
in the profit and loss profile between a lbng‘ put
position and a short put position with the help of

a table and graphs.

(b) Kartik’s father plans to purchase a $ 10,000 Car

when he graduates school five years from
now. Calculate the amount he needs to invest in
each of the following small saving instruments
today at the given interest rates compounded
annually to be able to purchase the car. Which
saving instru-ment requires him to invest less and

why?
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